H & 0l & AHS B Ml A

M UA1S
HE: ASAAY| (HHS)
ool J1=2ZHI(Ues) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HunsZ
A= 211,458 203,218 8,240
Y 2AAYI(UA1S) 117,650 109,410 8,240
Jl23HI(tHeEsS) 117,650 109,410 8,240
Jl2ZHI(tHAS) 117,650 109,410 8,240
201 ZeH22 ] 73,772 65,532 8,240
01 ArR2eltl 28,302 28,062 240
ORAM JI=gf =8 g4l
2 & 6,480,000 6,480 6,240 240
02 222l 45,470 37,470 8,000
OsdHE=XHE AMERA
Z & 4,800,000 4,800 1,800 3,000
oxMIIL3 Z& 11,900,000 11,900 9,600 2,300

OZANARS 2 & 6,300,000 6,300 3,600 2,700
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M HA3S
M AHAH2HAHI(HH3S)
ool J1=2ZHI(HH3s) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HunsZ
CHH3S 347,874 346,734 1,140
Y 2AHY|(OH3S) 181,564 180,424 1,140
J|22HI(HH3S) 181,564 180,424 1,140
J|2ZHI(THA3S) 181,564 180,424 1,140
201 ZeH22 ] 98,368 98,128 240
01 ArR2eltl 39,020 38,780 240
ORA JI2HR 28 FAY|
2 & 7,920,000 7,920 7,680 240
405 XHAHE SHI 17,200 16,300 900
01 ML ESHSHI 17,200 16,300 900
S40t0132 EXI 900,000 900 0 900
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CHH4S
HHE2HZHI(HH4S)
|=2ZHI(HH4S) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HunsZ
4= 186,425 177,99 8,430
Y 2AAYI(OH4S) 87,735 79,305 8,430
J|23HI(HH4s) 87,735 79,305 8,430
J2ZHI(tHA4E) 87,735 79,305 8,430
201 ZeH22 ] 44,773 44,533 240
01 At222lH| 23,650 23,410 240
ORA JI2ge 28 S|
2 & 6,000,000 6,000 5,760 240
405 XHAHE SHI 8,990 800 8,190
01 ML ESHSHI 8,990 800 8,190
Osgtaga)| 7,850,000 *1CH 7,850 0 7,850
ORld H2E A9 340,000 *1CH 340 0 340




H & 0l & AHS B Ml A

A UehsS
M HH2AAH|((HI5S)
ool J1=2HI(Ue5S) (SH &)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl N3 A Hunsz
tHeb6S 180,7% 187,398 6,602
HHSAPHI(LHHS) 81,906 88,508 26,602
Jl2dHl(te5s) 81,906 88,508 6,602
J123dl(tH5S) 81,906 83,508 6,602
201 L2 | 52,276 52,036 240
01 A=R2teld| 26,484 26,244 240
ORA 12 48 SAH|
23 6,000,000 6,000 5,760 240
202 0idl 17,000 24,192 ANT,192
01 =WHOdbI 17,000 24,192 AT 1R
OJ|=2ee =3 &0
Z& 17,000,000& 17,000 24,192 AT,192
405 XHebE S| 2,850 2,500 350
01 AL =EFSHI 2,850 2,500 350

O&II=2==DI 350,000 = 1CH 350 0 350




= A
S 0l & A E Al
=
2u(0iot6s)
Hs)
- SRAE) - HRAY - BES Ofl &4 I3 A
65 215,910 215,670 240
BESYAH) 29,660 29,420 240
EETIG 129,660 129,420 240
7|2 ( 129,660 129,420 240
201 & 75,683 75,448 240
o1 AI2 27,570 27,330 240
O=A
23 6,000,002 6,000 5,760 240




H & 0l & AHS B Ml A

od
i’
o
uJ

1883818 %mmm%%% 1]
O OO | O |O©|© © A [©)N NN N N N> Ne)] (&)
o |o|<[<[<|<f s <~
KIo
E
F=)
slslis|ele|le o M%%%%BM L
ARl R AR Kl KA el RPN KR
 [BN|YRRE E &g g g8
RO
~
LIS 3NBI18 8 8 2 88883 S
S T2 lele & @ NN |nle 8
SN EE R EEIEE
al
<
=3
T W G
g 8 g
o g g 3
: - :
— i _A
X m ro R0 RO
@ \)@ ﬁojo
s | Bl | | 5
< | g | 2
. 00 | < o
=| Bl | 2 2 :
g [ 2% |2 2 N
F N £ I IO PSR R Py S S
| R |[=|no|Ro w0 | ~|W[D|D W
. TN R d Ea T E -
. rolm (0| . m o [y
wl | |5 |k ROR o [WO[H 00 |oF =
RO o Ll OO S = T g T it
: Helalz|s © mls|ls|s ©
X Rix| - |® 30RO | |
il g o | X | 1| o M|~
= | ol | KF RO~
0 -




H & 0l & AHS B Ml A

od
i’
o
uJ

N3NN8 A ANA AL S
slele|S|ele S| |a S Q
ol R R B R A
KIo
E
E=)
X882 18 2188|138~ S
ISR [0 || (=S N
= |8I8I8| | |7 ~|88|8|F|&
RO
~
Yo} — | AN
228|818 B|S|5I88c B
gla|g|V|v|y J|g|8|8|5|8 <
Wﬁ
<
b=}
] ]
8 8
S S
Oir g g
30 o o
Al — R0 R0
. % Moxo 0
ol — | o] ™
W_ﬂ o | % hl 5
= of | i3 K0 x
. o | <u = Mo
= w2 |8 or o
= 70 | g0 |% il &
iio} Bl [ 0b | = KO
= ~|=|o i y
oF _.Aa% 0} — ~|_|[_— ol
o) R g 010 = (W~ |W|[D|D i
5 [ &0 RII<0 ar Nl [N |80 |0 =<
GBI R S A T F L A
wl uxno ez g 0o {0l (00 |2y |gF <
R0 MESEIETRE =g e e
_ ol [~ U0 o S |ol < Ik
. u_xﬂﬂmmo ﬁow_ﬁdmmo
X RIR|®|® 30 (&0 | M|
il g o | |8 U ||~
MG 7|~
iof | K 0
00




E 0l & AFHSH E AN A
2 3 ~ 284s
o 3%)
= =35) S &)
3 - oR(3H) - HIRAY - BES Oif kot ol 3 o HRs2
193,935 196,507 N2,572
ER=-FSEN| 112,819 113,599 AT80
| & HEES 538) 112,819 113,599 AT80
XI?IA3 2,244 3,024 AT80
AeEEZ 2,244 3,024 AT80
JIEtE A= 2,244 3,024 AT80
OZ0IXZI2
Z2E 2,244,000 2,244 3,024 AT80
2 (B33s 81,116 82,908 A1,792
253%) 81,116 82,908 A7
I(833s 81,116 82,908 A7
202 04d| 14,400 24,192 A9, 7R
01 =LHO4 L] 14,400 24,192 N9, 7R
opl==T
Z & 14,400,000 14,400 24,192 N9, 7R
&S 8,000 0 8,000
01 Rparey 8,000 0 8,000
OmMBII 1,000,00024+1CH 1,000 0 1,000
OZ A=A 7,000,0002 *1CH 7,000 0 7,000




g2 8 A A

SN - B CRA(3) - HRAY - BAS 0 &t Y o 2
4= 206,820 155,580 51,240
HY2AHU(E2S4S) 128,086 76,846 51,240
ll23tl(8348) 128,086 76,846 51,240
Jl2gtl(8348) 128,086 76,846 51,240
201 L2 | 42,626 42,386 240
01 At 22|l 21,744 21,504 240

ORA JI2HR 28 FAY|

23 5,040,000 5,040 4,800 240
401 AIEHIZL 28I 46,500 5,500 41,000
01 Al&HI 46,500 5,500 41,000
OY=ZAt 14,000,000 14,000 0 14,000
OIS A 2,000,000& 2,000 0 2,000
OZLUtHAICH 25,000,000& 25,000 0 25,000
405 KHHE SH| 10,000 0 10,000
01 AL ESH =S| 10,000 0 10,000
O2ML, MHtMED HIS 10,000,000 10,000 0 10,000
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KIO

Hlw

240
240
240
240
240
240

240

ol ® o

248,320

100,880
100,880
100,880

48,048
22,486

5,760

Ofl &F2H

248,560

101,120
101,120
101,120
48,288
22,726

6,000

- HyS

- SRA(3) - HIRAEY

S - B

o
110

01 AFS2t2ltl

Z& 6,000,000
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240
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240
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240

ol ® o

175,533

82,363
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45,703

20,255

4,800

Ofl &F2H

175,773
82,603
82,603
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45,943
20,495

5,040

- HyS

- SRA(3) - HIRAEY

S - B

01 AFS2t2ltl

& & 5,040,000
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ol ® o
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Ofl &F2H
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- ESS
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S - B

10
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1o

J23HI(2823)

Jl2ZHl(2828)

202 044l

01 =LA LI

a3 17,676,000
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22,962

5,760
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Ofl &F2H

199,107
90,504
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58,332
23,202

6,000
14,192
14,192

14,192

- ESS

- SRA(3) - HIRAEY

S - B

Ho
%
i)
i[3]

=
1o

J23HI(2843)

Jl2ZHI(2843)

01 AFS2t2ltl

Z& 6,000,000

202 04|

01 S0

23 14,192,000




